

Page 1 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.				
	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway				Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	9,000.00000	9,000.00				
PERFOR PAYMEN	MANCE BOND AND IT BOND	DOLL						
0003	153003P	(1)	25,000.00000	25,000.00				
PROGRE	ESS SCHEDULE	LS						
0004	153005M	12.000	1.00000	12.00				
PROGRE	SS SCHEDULE UPD	PATE U						
0005	153011M	1,190.000	0.02000	23.80				
TRAINEE	S	HOUR						
0006	154003P	(1)	240,000.00000	240,000.00				
MOBILIZ	ATION	LS						
0013	157006M	1.000	1,500.00000	1,500.00				
MONUMI	ENT	U						



Page 2 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.				
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt Set:		Cat A	It Member:	
0014	157009M	1.000	1,500.00000	1,500.00				
MONUMI	ENT BOX	U						
0022	159003M	40.000	100.00000	4,000.00				
BREAKAWAY BARRICADE		U						
0023	159006M	100.000	50.00000	5,000.00				
DRUM		U						
0024	159009M	100.000	20.00000	2,000.00				
TRAFFIC	CONE	U						
0025	159012M	832.000	15.00000	12,480.00				
CONSTR	UCTION SIGNS	SF						
0026	159015M	2.000	2,500.00000	5,000.00				
CONSTR SIGN, 4'	UCTION IDENTIFICATION (NECTION IDENTIFICATION IDENT	TION U						



Page 3 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	lo / Item ID Description		(1) SOUTH S	TATE, INC.				
	•	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0027	159027M	2.000	100.00000	200.00				
ARROW	BOARD, 4' X 8'	U						
0028	159029M	2.000	19,500.00000	39,000.00				
SIGN W/	BLE VARIABLE MESSAC REMOTE NICATION	GE U						
0029	159108M	2.000	45,000.00000	90,000.00				
	C CONTROL TRUCK WI ED CRASH CUSHION	TH U						
0030	159126M	2,622.000	8.00000	20,976.00				
TEMPOF 4"	RARY TRAFFIC STRIPE	S, LF						
0031	159138M	59.000	100.00000	5,900.00				
HMA PA	тсн	Т						



Page 4 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.				
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt Set:		Cat A	It Member:	
0032	159141M	1,884.000	0.02000	37.68				
TRAFFIC	DIRECTOR, FLAGGE	R HOUR						
0033	159260M	2.000	2,500.00000	5,000.00				
CONSTR SIGN, IIJ	RUCTION IDENTIFICATION 10 PM	TION U						
0034	159312M	977.000	0.02000	19.54				
TRAFFIC LATEX, 8	C MARKINGS LINES, 8"	LF						
0035	159314M	241.000	0.02000	4.82				
TRAFFIC LATEX, 2	C MARKINGS LINES, 24"	LF						
0036	160004M	1.000	1,000.00000	1,000.00				
FUEL PF	RICE ADJUSTMENT	DOLL						



Page 5 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	lo / Item ID Description		(1) SOUTH S	STATE, INC.				
	-	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	Roadway		Cat Alt Set:		Cat A	It Member:	
0037	160007M	1.000	1,000.00000	1,000.00				
ASPHAL	T PRICE ADJUSTMEI	NT DOLL						
0038	161003P	(1)	315.49000	315.49				
FINAL C	LEANUP	LS						
0039	201003P	(1)	50,000.00000	50,000.00				
CLEARII	NG SITE	LS						
0040	202006M	10.000	250.00000	2,500.00				
EXCAVA	TION, TEST PIT	CY						
0041	202009P	171.000	50.00000	8,550.00				
EXCAVA	TION, UNCLASSIFIEI	D CY						
0042	202021P	87.000	5.00000	435.00				
REMOV	AL OF PAVEMENT	SY						



Page 6 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.				
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0043	203021P	31.000	100.00000	3,100.00				
I-14 SOIL	AGGREGATE	CY						
0044	301006P	87.000	100.00000	8,700.00				
SUBBASE	≣	CY						
0045	304003P	34.000	360.00000	12,240.00				
CONCRE THICK	TE BASE COURSE,	8" SY						
0046	304009P	53.000	460.00000	24,380.00				
CONCRE THICK	TE BASE COURSE,	10" SY						
0047	401009P	4,491.000	25.00000	112,275.00				
HMA MILI	LING, 3" OR LESS	SY						



Page 7 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.				
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0001			Cat Al	t Set:	Cat A	It Member:	
0048	401021M	486.000	100.00000	48,600.00				
HOT MIX REPAIR	ASPHALT PAVEME	NT SY						
0049	401027M	745.000	26.65000	19,854.25				
POLYME	RIZED JOINT ADHE	SIVE LF						
0050	401030M	684.000	0.02000	13.68				
TACK CO	DAT	GAL						
0051	401054M	529.000	325.00000	171,925.00				
_	(ASPHALT 12.5 M 64 E COURSE	1 T						
0052	401084M	10.000	200.00000	2,000.00				
_	ASPHALT 19 M 64 EDIATE COURSE	Т						



Page 8 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	STATE, INC.				
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway		Cat Alt	: Set:	Cat A	It Member:	
0053	405003P	249.000	10.00000	2,490.00				
UNDERL	AYER PREPARATIO	N SY						
0055	602105M	4.000	2,500.00000	10,000.00				
SET INL	ET TYPE B, CASTING	e U						
0056	602108M	1.000	2,500.00000	2,500.00				
SET INL	ET TYPE E, CASTING	G U						
0057	602114M	1.000	2,500.00000	2,500.00				
SET MAI	NHOLE CASTING	U						
0059	606012P	251.000	195.00000	48,945.00				
CONCR	ETE SIDEWALK, 4" T	HICK SY						
0060	606023P	181.000	390.00000	70,590.00				
PRECAS	T CONCRETE PAVE	RS SY						



Page 9 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH S	STATE, INC.				
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	: Set:	Cat A	It Member:	
0061	606039P	111.000	285.00000	31,635.00				
THICK	(ASPHALT DRIVEWA	Y, 6" SY						
0062	606084P	21.000	1,950.00000	40,950.00				
DETECT	ABLE WARNING SUR	FACE SY						
0063	606085P	16.000	390.00000	6,240.00				
	ABLE WARNING E, BRICK PAVER	SF						
0064	607018P	676.000	90.00000	60,840.00				
9" X 16" (CURB	CONCRETE VERTICA	LL LF						
0065	607069P	34.000	90.00000	3,060.00				
-	RIABLE HEIGHT ETE VERTICAL CURB	LF						



Page 10 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.				
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0066	610003M	2,811.000	8.00000	22,488.00				
TRAFFIC S	TRIPES, 4"	LF						
0067	610014M	1,469.000	4.00000	5,876.00				
TRAFFIC M	ARKING LINES, 8"	LF						
0068	610017M	726.000	10.00000	7,260.00				
TRAFFIC M	ARKING LINES, 24	" LF						
0069	610021M	17.000	180.00000	3,060.00				
RPM, BI-DII LENS	RECTIONAL, AMBE	R U						
0070	610024M	17.000	0.02000	0.34				
REMOVAL	OF RPM	U						
0071	610033M	461.000	10.00000	4,610.00				
RUMBLE S	TRIP	LF						



Page 11 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	No / Item ID Description		(1) SOUTH S	STATE, INC.				
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Ro		Roadway		Cat Alt	: Set:	Cat A	It Member:	
0072	610036M	4,945.000	1.00000	4,945.00				
REMOV	AL OF TRAFFIC STRIP	ES LF						
0073	610038M	461.000	25.00000	11,525.00				
REMOV	AL OF RUMBLE STRIP	LF						
0074	612003P	176.000	50.00000	8,800.00				
REGULA SIGN	ATORY AND WARNING	S SF						
0075	612006P	39.000	35.00000	1,365.00				
	SIGN, TYPE GA, STEEL JARE TUBE POST RTS	_ "U" SF						
0076	612030P	72.000	95.00000	6,840.00				
OVERH	EAD STREET NAME SI	GNS SF						



Page 12 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt Set:		Cat A	It Member:	
0077 651255M	9.000	500.00000	4,500.00				
RESET WATER VALVE BO	OX U						
0078 652435M	10.000	2,000.00000	20,000.00				
RESET MANHOLE, SANIT. SEWER, USING NEW CAS							
0079 653084M	4.000	750.00000	3,000.00				
RESET GAS VALVE BOX	U						
0080 654010M	1.000	2,500.00000	2,500.00				
UTILITY POLE SHEATH	U						
0081 655013P	2.000	2,500.00000	5,000.00				
RESET TELECOMMUNICA MANHOLE	ATIONS U						
0082 701015P	139.000	104.00000	14,456.00				
2" RIGID METALLIC COND	DUIT LF						



Page 13 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.				
	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	Roadway		Cat Alt Set:		Cat Alt Member:		
0083	701021P	396.000	117.00000	46,332.00				
3" RIGID I	METALLIC CONDUI	Γ LF						
0084	701102M	3.000	10,400.00000	31,200.00				
18" X 36"	JUNCTION BOX	U						
0085	701123M	8.000	6,500.00000	52,000.00				
FOUNDA ⁻	TION, TYPE SFT	U						
0086	701128M	1.000	13,000.00000	13,000.00				
FOUNDAT MODIFIE	TION, TYPE P-MC	U						
0087	701135M	5.000	5,000.00000	25,000.00				
FOUNDA ⁻	TION, TYPE SPF	U						
8800	701138M	1.000	13,000.00000	13,000.00				
FOUNDA ⁻	TION, TYPE STF	U						



Page 14 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	/ Item ID		(1) SOUTH S	TATE, INC.				
	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	Roadway		Cat Alt Set:		Cat Alt Member:		
0089	701144M	2.000	7,800.00000	15,600.00				
FOUNDAT	TION, TYPE SFK	U						
0090	701168M	1.000	7,800.00000	7,800.00				
METER C	ABINET, TYPE T	U						
0091	701192P	949.000	6.00000	5,694.00				
GROUND	WIRE, NO. 8 AWG	LF						
0092	701201P	641.000	7.00000	4,487.00				
MULTIPLE AWG	E LIGHTING WIRE, N	NO. 8 LF						
0093	701213P	142.000	8.00000	1,136.00				
SERVICE	WIRE, NO. 6 AWG	LF						
0094	702009M	1.000	39,000.00000	39,000.00				
CONTROL	LER, 8 PHASE	U						



Page 15 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.				
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway		Cat Alt Set:		Cat Alt Member:		
0095	702012M	10.000	7,800.00000	78,000.00				
TRAFFIC ALUMINI	SIGNAL STANDARI JM	D, U						
0096	702015M	1.000	14,500.00000	14,500.00				
TRAFFIC STEEL	SIGNAL STANDARI	D, U						
0097	702018M	5.000	3,250.00000	16,250.00				
PEDEST	RIAN SIGNAL STANI	DARD U						
0098	702021M	8.000	5,200.00000	41,600.00				
TRAFFIC ALUMINI	SIGNAL MAST ARM JM	l, U						
0099	702024M	1.000	13,000.00000	13,000.00				
TRAFFIC STEEL	SIGNAL MAST ARM	l, U						



Page 16 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.				
	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0100	702027P	1,205.000	7.00000	8,435.00				
TRAFFIC S	SIGNAL CABLE, 2 OR	LF						
0101	702030P	3,041.000	8.00000	24,328.00				
TRAFFIC S	SIGNAL CABLE, 5 OR	LF						
0102	702033P	2,566.000	10.00000	25,660.00				
TRAFFIC S	SIGNAL CABLE, 10 OR	LF						
0103	702036M	22.000	3,000.00000	66,000.00				
TRAFFIC S	SIGNAL HEAD	U						
0104	702038M	2.000	5,200.00000	10,400.00				
PUSH BUT	TON INSTALLATIO	DN U						



Page 17 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.				
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0105	702039M	22.000	2,250.00000	49,500.00				
PEDEST	RIAN SIGNAL HEAD	U						
0106	702042M	11.000	1,650.00000	18,150.00				
PUSH BI	JTTON	U						
0107	702046M	6.000	18,000.00000	108,000.00				
RADAR I	DETECTOR	U						
0108	702050M	3.000	18,000.00000	54,000.00				
GENERA	ATOR AUXILIARY CAE	BINET U						
0109	702054M	(1)	39,000.00000	39,000.00				
	RARY TRAFFIC SIGNA I, LOCATION NO No. 1							



Page 18 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt Set:		Cat Alt Member:		
0110 702057M	(1)	0.02000	0.02				
INTERIM TRAFFIC SIGNAL SYSTEM, LOCATION NO Location No. 1	LS -						
0111 702057M	(1)	4,500.00000	4,500.00				
INTERIM TRAFFIC SIGNAL SYSTEM, LOCATION NO Location No. 2	LS -						
0112 702060M	3.000	10,400.00000	31,200.00				
CONTROLLER TURN-ON	U						
0113 703012M	1.000	1,950.00000	1,950.00				
LIGHTING MAST ARM ALUM	INUM U						
0114 703018M	2.000	3,900.00000	7,800.00				
LUMINAIRE	U						



Page 19 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

Contract Description: ADA SOUTH, CONTRACT 5

Line No / Item ID Item Description		(1) SOUTH STATE, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

Section Totals: \$2,206,039.62



Page 20 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.				
	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	Construction Er	ngineering	Cat Alt	: Set:	Cat A	It Member:	
0007 155018M	1.000	65,000.00000	65,000.00				
FIELD OFFICE TYPE F SET UP	P U						
0008 155036M	28.000	3,500.00000	98,000.00				
FIELD OFFICE TYPE F MAINTENANCE	MO						
0009 999999P	1.000	0.00000	0.00				
NO ITEM Formely item (156003 MATERIALS FIELD LABORATORY SET-UP	SM) U						
0010 999999P	1.000	0.00000	0.00				
NO ITEM Formerly item (15600) MATERIALS FIELD LABORATO MAINTENANCE							
0011 156009M	1.000	5,000.00000	5,000.00				
CURING FACILITY SET-UP	U						



Page 21 of 26

Contract ID: 24150

__ _

Letting Date: December 10, 2024

District(s): S1

Call Order: 150

Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE

Max:

Counties: GLOUCESTER

Contract Description: ADA SOUTH, CONTRACT 5

Line No / Item ID Item Description Alt Set / Alt Member Quantity and Unit		(1) SOUTH	STATE, INC. Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	Construction Er	ngineering	Cat Alt	Set:	Cat A	lt Member:	

Min:

0012 156012M 24.000 1,200.00000 28,800.00 CURING FACILITY MAINTENANCE MO

Section Totals: \$196,800.00



Page 22 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

Contract Description: ADA SOUTH, CONTRACT 5

Line No / Item ID Item Description		(1) SOUTH STATE, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Non-Participat		ng Cat		Alt Set: Ca		at Alt Member:	
0002 152015P	1.000	100.00000	100.00				
POLLUTION LIABILITY INSU	JRANCE DOLL						
0054 601670M	365.000	20.00000	7,300.00				
CLEANING EXISTING PIPE, 24" DIAMETER	12" TO LF						
0058 602216M	16.000	250.00000	4,000.00				
CLEANING DRAINAGE STRUCTURE	U						

Section Totals: \$11,400.00



Page 23 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

30	Contract Bescription: ABA Goothi, Contract o							
	o / Item ID escription		(1) SOUTH S	TATE, INC.				
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0004	Erosion Control		Cat Alt Set:		Cat Alt Member:		
0015	158003M	363.000	5.00000	1,815.00				
CAUTIO	N FENCE	LF						
0016	158015M	25.000	10.00000	250.00				
HAYBALE U								
0017	158030M	8.000	125.00000	1,000.00				
INLET FI	LTER TYPE 2, 2' X 4'	U						
0018	158033M	1.000	250.00000	250.00				
INLET FI	LTER TYPE 2, 4' X 4'	U						
0019	158063P	(1)	35,000.00000	35,000.00				
CONCRE	ETE WASHOUT SYST	EM LS						
0020	158072M	2.000	1,000.00000	2,000.00				
OIL ONL TYPE 1	Y EMERGENCY SPILI	_KIT, U						



Page 24 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

Contract Description: ADA SOUTH, CONTRACT 5

	o / Item ID escription		(1) SOUTH S	TATE, INC.				
	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0004 Erosion Conf		I	Cat Alt	Set:	Cat A	It Member:	
0021	158084M	19.000	0.02000	0.38				
EROSION REMOVA	N CONTROL SEDIMI	ENT CY						
0118	806018P	28.000	130.00000	3,640.00				
FERTILIZ F	FERTILIZING AND SEEDING, TYPE SY							

Section Totals: \$43,955.38



Page 25 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

Contract Description: ADA SOUTH, CONTRACT 5

Line No / Item ID Item Description Alt Set / Alt Member Quanti			(1) SOUTH STATE, INC.					
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0005	General Lands	cape	Cat Alt	: Set:	Cat A	It Member:	
0115	804000P	283.000	13.00000	3,679.00				
	_ SPREADING" TH Spreading 4" Thick	IICK SY						
0116	804015P	68.000	26.00000	1,768.00				
BORROV	W TOPSOIL	CY						
0117	806006P	283.000	13.00000	3,679.00				
FERTILIZ A-3	ZING AND SEEDING,	TYPE SY						
0119	809006M	283.000	13.00000	3,679.00				
FIBER M	ULCHING	SY						
0120	811175P	(1)	13,000.00000	13,000.00				
RECONSTRUCT PLANTING BED LS								

Section Totals: \$25,805.00



Page 26 of 26

Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 District(s): S1

Call Order: 150 Project(s): D00S946

Contract Time: 12/10/26 COMPLETION DATE Min: Max:

Contract Description: ADA SOUTH, CONTRACT 5

Contract Totals \$2,484,000.00

Cost Plus Time Totals \$2,484,000.00

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 150 Contract ID: 24150 Counties: GLOUCESTER

Letting Date: December 10, 2024 10:00 AM District(s): S1

Contract Time: 12/10/26 COMPLETION DATE

Contract Description: ADA SOUTH, CONTRACT 5 Project(s): D00S946

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	SOUTH STATE, INC.	\$2,484,000.00	100.00%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.